Rehired Retired Employees

450 USPSCN/DEDSCN

LU 4444334444 Lode: 4bU0 MName: EUSMU KEAMEH

Type: Retirement Mame: STATE TEACHERS RETIREMEMT S%35
Percentage ' Full or Part time
Board’'s share 14,000  Start 000 (weelelie» Retirse flag
Error adjustment: Stop o 00/00/0000 Surcharge exempt
Board erraor adj.: i Rehired: OF/01/2004 Fringe ben/Xtra comp:

Mew employes: N
Accurm MTO Totals ATO Tatals FY¥TD Totals ¥T0 Total

==k m

Deduct total

Gross pay ' 4977, 42 13347 32

Eoard share : 1404.17 1068, 66 1860 &
Retiree deduct:

Retiree gross 13347, 37

Retiree board : 1868 66

1. ‘Retiree flag” must be set to Y and a date in the ‘Rehired’ field.
2. The ‘Retire gross’ is a subset of the ‘Gross pay’.
a. If employee worked entire fiscal year as a rehired retiree the ‘Gross pay’
amount should be the same as the ‘Retiree gross’.
b. If an employee worked only part of the fiscal year as a rehired retiree, the
‘Retiree gross’ will be less than the ‘Gross pay’ amount.

** STRSAD.RPT Earnings = FYTD “Gross pay’ from 450 record + calculated

amount remaining to be paid from JOBSCN (does not use the ‘Amount Due’
from JOBSCN)

591 USPSCN/DEDSCN

Job: __ Type: Retirement (Annuity) Name: STATE TEACHERS RETIREMENT
Percentage : 11.000 Start: 00/00/0000
Error adjustment: Stop : 00/00/0000
User Defined Fields:
Amount 1: Amount 2:
Code 1: __ Code 2: __  Date: 00/00/0000
Text:

Accum MTD Totals QTD Totals FYTD Totals YTD

Total:
Deduct total: 31.35 31.35 36.85 100.10 58.30
Retiree deduct: 100.10

The ‘Retiree deduct’ is a subset of the ‘Deduct total.’
a. If the employee was a rehired retiree all fiscal year The ‘Retiree deduct’
FYTD amount should equal the ‘Deduct total” FYTD amount.
b. If the employee was not a rehired retiree all fiscal year, the ‘Retiree
deduct’ FYTD amount will be less than the ‘Deduct total’ FYTD amount.

**The value in the FYTD Totals Deduct total/Retiree deduct field(s) is the
DEPOSIT/PICK UP amount on the STRSAD.RPT.




